ER21FEE-FoR BERMLF—FAVEXE

Ft+EDH-HHEER
Er22%E2H6H
—
i |dfb s 52 % 1ERRTE %% = 7|14
0 e 1(5)
/1938 (7)09: 00T =10-11DEE ’ 25D 0 12/26KE2(B)10: 15E$|=23- 24D &
B2 5
2|[BRMW LS50 4 g’ff."ﬁi‘k%‘ 5 JI % 5 0|15
12/58(®)13:30BH=W-T R4 ° /J\EH%{%H-?% 14 12/5 KJ(D)08:30FE#| =T %50
IR =T 1 0 % 1+ #£| 16
1/23KJ(1)09:30 BH|=7~00DE ’ ot 1/23KJ(I) 12:00FEH =20~22D &
4|dfbrRkA Y X 0 : %2 ES = 7|17
12/1988 (™) 11: 30BHI =% E 5 shpg 1 12/19 3§ (T)12:45 B =1EEE
. 2/6 -
5 |FyrigR+ % ()2 P 0 #M T B|18
12/5: () 11: 00 =18 K50 1 éjg__/ 3 12/5 KJ (@) 12: 15FH| = \vha=
6 |ZEHE+ (3)2 g 4 # F 18 5 o[19
1/30#EFRAR—Y 22— 11:30FH| =&K& : I 5 1/308FHAR—Y 23— 13.00F $| = A& Ep
1|1 BHES50 5 ’ B & GFcCl|2
2/1988 (A) 14 : 00T H|=18- 19D & 5 0—'12/26th (A)09: 00| =55%
s|HEER + £ 4 1 A& 21
12/58 (@) 12 1584 = B4F LS50 0 0 12/5 KJ(®)11:00EH = #mB
9 (W-wRXH2—X 0 0 FC /1 R 5 022
1/23KJ(0)10:458BH|=14~16DHE 0 03 1/23KJ(IV)13: 15BH=17~19DHE
wWHEHIT XK @1 9 FEIEFC50|23
12/558 (D) 08 : 30 $| = #AFIA 0 o 12/5 KJ(@)09: 455 ¥ =% - %50
1@ #M 5 o ) J # 25 JI| 5 0|24
12/1938 (()10: 158 $|=R0> X 0 2 12/26 KE2(C)11:30E$|=15-16 D&
i B A 0(a) LN 4o & F 54|25
12/55 (@) 09 : 45584 = F 50 2 3_PK_115/5 xJ(®)13:30%1= 74850
BB E % THRL 065 /N B R 5 0[26
[ 15 & ]
pri] = SEGIIRIERST SR
Iz =&H-BUTIIUK
K-E2=K#J S5 KE2
K-Jd =K@ISURJ
[ BLEHLEEE ] (E =)

1.
ZRITOENMGEEX. FHEATES S,

CELYLEH AL, HEFB20 RIS BF—LDFTVIEITI,

CERBERBB OB L, BABH(ETORSB) X, XTI,

CBYERR. RIEHREERTSIE,

NI RALIE SA LR GEERIR) L. BRZA LIKRLELY,

. EDM, b—FAVMREEIRITLD,

o0~ ODN

SMF—LiL. REFBIORFIETICTAIED AV /N—FK (280 ZERAL. KEXRFITIRHEL TR G EFFE



